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Four choicesaregiven for each of thefollowing questions/incomplete statements.
Choosethemost appropriateanswer and shadethealphabet of the correct answer
in the OMR answer sheet given to you with a black / blue ball point pen.

[40 x 1 = 40]
81) 20T Y BRe@FEOHTY, JONA S[NFCITTNTOT QOBAS O
A) B [oRT B) B0eFdewt’ QoRy
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The type of engine that is classified based on the arrangement of cylinders
IS

A)  Petrol engine B)  Carburettor engine
C) L-Headengine D) Inline vertical engine
Ans: (D) In line vertical engine

TOTING QoW NY m\cﬁde@% TOWORAWOZ TOOIRT a&m@oﬁ:aﬁ:& TSR
A) QS -TT QOVT®, TeRONS® QORT®

B) 02805 3e30° Q0RTF, AT Q0BT

C) FeRTO QORT, SLARCBRUT QORI

D) Q0 ﬁ@)@fs QORT", WO QOB

G20 : (C) ZeRTO QORT, BWRCBRLWT QOB

Identify the correct pair with respect to the classification of automobile
engines.

A) L -Head engine, Radial engine
B)  Carburettor engine, Diesel engine
C) Stationary engine, Automotive engine

D) Two stroke engine, Wankel engine

Ans: (C) Stationary engine, Automotive engine

P T rI[OT (FHP), 8ee® mox's IS0° (BHP) 3y woRécdes® moxfs
I=o® (IHP) Ronchs Do

A)  FHP =IHP + BHP B) FHP =IHP — BHP
IHP

C) FHP=—— D) FHP =IHP x BHP
BHP

2033 : (B) FHP =IHP - BHP

Therelationship between Friction Hor se Power (FHP), Brake Hor se Power
(BHP) and Indicated Horse Power (IHP) is

A) FHP =IHP + BHP B) FHP =IHP - BHP
IHP

C) FHP=—— D) FHP =IHP x BHP
BHP

Ans: (B)  FHP =IHP — BHP
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84) XIS MEBQUTR, bene TokoTE

A) 0BT WORVFE B) &weT®
C) RAnew D) RAzS w0wmmen

2033 : (D) AR TORMe

Piston displacement is also called as

A)  engine capacity B) Dbore
C) stroke D) sweptvolume
Ans: (D) swept volume

85) T IITW, N=A2 L0
B W& 00 TR BOFHETR JNTT [ SROYIRF &) 3G,T° ¢
A)  ROT B) 9333 BoFTREHO 0TI
C) TS BOTRFHO AWoTT D) Snedechce 2o
@20 : (C) TS FOTRFTO J0TF
Observe the anology and answer
Vegetableail : liquid lubricant : : molybdenum disulphide:
A)  Emulsion B)  Semisolid lubricant

C) Solid lubricant D) Monograde oil
Ans: (C) Solid lubricant

86) VRINTY IR TIIT IedF 55“%033 FITIY?
A) 00T Jox® B) ©eF Ber Teds
C) Berodhewt® D) @leremEr
YO0 : (B) ©Er By pess
Which of thefollowingisNOT the component of a cooling system in avehicle?
A)  Water pump B)  Cutout unit
C) Radiator D) Thermostat

Ans: (B) Cut out unit
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A) 3@ T3 B) @ow 337
C) Y BT D) 053 w0dgT ITY

8T : (D) 1opI QoKTT w@ﬁ@
The type of fuel system where thereisno carburettor is
A)  pressure system B)  pump system

C) gravity system D) fuelinjection system

Ans: (D) fuel injection system

88) aRNEY BRI TN o WTFII
A) TR, WIFIS I B) 3R RIFIST I
C) 20w W D) =) w3@
QBT : (A) TW) WORFIT T
One of the requirement of propeller shaft is
A)  high torsional strength B)  low torsional strength

C) very soft D)  highest stress
Ans: (A) high torsional strength

89) ToF Iy BT IFT eoon® ﬁcdmel BROATLE TTI
A) B0 B[R, B) &t - 407
C) FHeews D) =®%E - 800
WIT : (D) =PRNE — 800
The vehicle having rock and pinion type steering gear is
A)  Swaraj Mazda B) Tata-407
C) Ford D) Maruti- 800

Ans: (D) Maruti - 800
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3T
A) 0O WOCWN0EF B) AR Tt
C) zIw o D) 7 ©wwes

WIS : (C) B oo

The component of a suspension system that prevents controlsthe arm from
swinging forward and backward is

A)  balljoint B)  stabilizer bar
C)  strut rod D) shock absorber

Ans: (C) strut rod

91) am@)ma (I) SFpedee (V) 2, FBeeg (R) nondss ooy

I R
A) V=— B) V=—
) R ) I
C) V=IR D) V=IR

@33 : (C) V=IR
The relationship between current (1) voltage (V) and resistance (R) is

A) L B) _R
R I
C) V=IR D) V=IR

Ans: (C) V =IR

92) @ERY FRFNY HedT JFRYRH, WNRRPTL YOTCARCNTE MY RO
A) don' @R JIT° B) % I
C) =mocdeend @ JT° D) 33T Hood = IT°
T : (B) T, W JIT°
The spanner used to tighten the nuts on drums of the wheelsis
A)  ring spanner B)  box spanner

C) combination spanner D) open ended spanner

Ans: (B) box spanner
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Wﬂ%m e
A)  TROT T B) ol
C) BRdw D) A

T : (A) TVOT TOES

| dentify the instrument shown in the following figure.

g &\gﬁww

‘WM,%W

at

A) Hand hacksaw B) Benchvice
C) Mallet D)  Snips

Ans: (A) Hand hacksaw

94) VPAYY PR FZOBE WFHRY?

A)  TROT T’ B) Rndw
C) =8 YvTBTD D) A

WET : (B) SN

Which of the following is'NOT" a cutting tool?

A)  Hand hacksaw B)  Mallet
C)  Grinding machine D)  Snips

Ans: (B) Mallet
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A) AT TeoT B) 635635#?
C) & D) =ex" e

@80 : (D) RRm A
- )
Aninstrument that can be used to measur ethethicknessof a coin accurately

IS
A) steelruler B)  caliperse
C) tape D) screw gauge

Ans: (D) screw gauge

96) MY MR, 3R TRR MYH WIBITW, TFTW WS YOTITL
A) DT LT B) delodewsot
C) T 30BRO° D) woderdes®
@20 : (C) DT BOTRT
The machine which is used to increase the pressure of air by reducing its

volumeis
A)  airfilter B) radiator
C) air compressor D) carburettor

Ans: (C) air compressor

97) «Rn$Y NI LUTFTENY THOTTY, THTHR
A) T S0, RTE TOw, P e YT
B) SIndwr, mmTt, BowrRE
C) OREWT", ERIPNCLT", TWBRLNT
D) SroT, e, 3w ISTE
T : (C) IDONEWT", ERIRCNCTT, T TRNCET”
| dentify the group of electric tools among the following.
A)  Torque wrench, Toppet wrench, Flywheel puller
B)  Mallet, Hammer, Benchvice
C)  Multimeter, Tachometer, Hydrometer
D)  Ruler, Micrometer, Slide caliperse

Ans: (C) Multimeter, Tachometer, Hydrometer
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A aF B) &z W
C) TR D) %eF

Q23T : (B) B 0

The instrument used to create cylindrical holesis
A)  snips B)  drillbit
C) hammer D)  chisel
Ans: (B) drill bit

99) Rpedees, 53533539 3 gq’)ézﬁ.racqﬁwﬁogZ OBO30T msac;ssmmel BRONTLT LVJTTED
A)  WO0eeT B) @
C) Hpeoews D) minedoewc’
QO3 : (A) WIgWeeT®

The device which hasthe ability to measure voltage, current and resistance

IS
A)  multimeter B) ammeter
C) voltmeter D) tachometer

Ans: (A) multimeter

100) %0, SR$cdon T LWIBRCNTRTT [H
A) Qe B) mox
C) RAred D) &edsoe®
w033 : (D) &eErowr
The material that should '"NOT" be used while washing the car is
A)  water B)  sponge
C) soap D)  detergent
Ans: (D) detergent
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101) RFRFE TTIOPROT T IPODWTTT ¥O3

A)  BOTIT WY B) 9ok Iz

C) sz =0y D) 3spdowrs &8

Q33 : (C) BoWST =Y

Dipstick helps usto know the

A) level of fuel B)  pressure of air

C) levelofoil D) level of coolant

Ans: (C) level of oil

102) 0ous® @oe® @ WHEURoLIW WeTME T[od LUTTTLANT /TN
A) I, W IT
B) RF oI, $I3, B 7 TN AEEOow

C) BOTRT QDT W, TR 0y 3 &80

38-

)

D) BT oo, NICR LVTTTLNLD

QT : (B) T 30ITY, I8, B 5 I mBETrTow
The tools materials required for changing the engine oil are
A)  pan, spanner

B) plastic container, funnel, drain plug socket wrench

C) compressor air valve, flat screw driver

D) fuel filter, special tools

Ans: (B) plastic container, funnel, drain plug socket wrench

103) woBBRLNAT QOB SONST JRFOMIPNT. STOOT AW,
A) BETORN OB
B) 3o¥ITTY Tod PHTIRR, BT VY Fe0TT, B
C) NBPWTE /RALRONN DRDLER
D) =0edni Toselesd
T : (B) FoWR[OIY Tt PTTRA, [OTI WOTR 3e0TF GRTWICR
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Used engine ail istoxic; hence it should be
A) poured into the sewage network
B)  putinto the sealed container and should be given to auto service station
C) disposed off with domestic waste
D) poured into the soil

Ans : (B) put into the sealed container and should be given to auto service
station

104) %ot SRTTT QOVITIY WD Zemen WTI, aoca&rw%s 7o)
A)  BRS0EF B) onwgow
C) 2053 D) 00
Q2T : (A) BRIOF
The substance that absorbs heat when the temperature of the engine

Increases is
A)  coolant B)  lubricant
C) fuel D) oil

Ans: (A) coolant

105) 2opRE 0eO8 WeR FWROINLL JIND FTD
A)  BOYT DT QT B) R[0T S0 LT
C) 2RCIPT BoORI® D) X0¥3 TR LT
QET : (D) R[OYB PR LOT°
The major reason for reduces pressure on fuel is
A) clogged air filter B) closed ol filter
C) hotengine D) clogged fuel filter

Ans: (D) clogged fuel filter

106) ¥RNEY ToFHFT JTRT/E 2,000 YOI THED
A)  TORRORITIRN WFO0T §OSwEew B) 9303 TYT Anize ARE0T
C) 3BRD TRT° ToOWOEF D) 38X Fz° TooooeF
30 : (C) 3RS TPT TOOWOL®
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One of the good property of a lubricant among the following is
A)  chemically highly reactive B)  very high viscosity index
C) low pour point D) low flash point
Ans: (C) low pour point

107) 2ous® o=, 30/RAVIC: WEHT TN
A) TR o B) 2097 f mocr

C) nex D) ooy

QT : (B) 200 [ 5oer

The liquid used to cool the engineis

A)  animaloil B)  ethylene glycol
C) grease D) castor oil

Ans: (B) ethylene glycol

108) "03p ©n3nesy J0e3" 31 MIEE FeRoDY FoRWLE WwoTH ©o3
A)  QIINY W mﬁg
B) o3 demgex
C) 00083 RPN ToRTONMITH)TD
D) mx3on DS 0080 FemONT, WBNERYT
QT : (D) MmO DS 0e0H FHeSoNT, WBNAY
An element of customer service in " Anticipate guest needs’ is
A)  knowledge about the products
B)  good body language
C) attending sales meeting

D)  going an extra mile to help the customer

Ans: (D) going an extra mile to help the customer

109) =exs dwontdcd BoRRrRY TR, AOLOFHTOBLY TRFOCIRNLE Teesd

A) DT RIFAD B) ©0u ooF dezned
C) RINRT IWA D)  segieceT,
T : (B) o8 ooF LeFned
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The innovation that help to maintain control while stopping the vehicleis
A)  air bags B)  anti lock brakes
C) navigation system D) keyfobes

Ans: (B) anti lock brakes

110) codedh ¢ B=° Snmdmen, SHDY TowWOBHT TSN, I WEIAYR
HTHITD BELIS 03T

A) BT TT ©T, B) 3@ 9
C) Breer LI QBIF D) ©oRRY Mo
QU3 : (A) BT ART AT,

The technology that helps to spot the animals and vehiclesin a road while
driving at night timeis

A)  night vision assist B)  nightlights
C) roll over prevention D)  blind spot detection

Ans: (A) night vision assist

111) =oxwg Wes® TRITON RTTR) T0OTE, TRLTOTT 23

A) B0 B) oooore
C) eoe0on® D) dweedor®

QO3 : (A) BRON

The tendency of a vehicle to divein itsfront on application of brakeis
A) dipping B)  yawing

C) bottoming D) rolling

Ans: (A) dipping

112) STRA AN S0PDHS W FTT OF
A) T A JIT° B) ®oddees AR, JT°
C) oo = IT° D) Qersw @ JIT°
@80 : (C) dorF = IT°
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The type of spanner in which both the ends ar e closed
A)  box spanner B)  combination spanner

C) ringspanner D)  wheelnut spanner

Ans: (C) ring spanner

113) %@ TSR 30DONY LVTABRENTOT YVTFTED
A) B> 2 B) 33
C) Qéww D) nemns®
@23 : (D) Ne=mn
The tool used for lubrication purposeis
A)  drillbit B)  chisel
C) plier D) grease gun
Ans: (D) grease gun

114) TSI, B DI WA PR TORE ITFLIW TTCH TR YOTTTD
A) e RITT B) Q0 30FRO
C) 0@ Beex, OF D) InIwus Joww
@20 : (C) oW B, O,

The equipment that helpsto lift the automobile and to carry out the work
under the chassisis

A)  Wheel balancer B)  Air compressor
C) Two post lift D)  Pneumatic wrench

Ans: (C) Two post lift

115) QT° OB, BURLSBTYTH
A) ToRRORABTNYOT B) Q¢dd0%
C) Zohow D) ®RBRIF §eITR0T
QET : (D) WIRIT 5eITA0T
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Air filter is cleaned by

A)  Chemicals B)  Water
C) oi D)  Vacuum cleaner

Ans: (D) Vacuum cleaner

116) MTEIR HTT DO VT asmmxsﬁ TRBL AT NG Helne Jeed

A) ™mTF A B) mwm3 Koww
C) m=3 32 D) mxm3 303TH

@30 : (B) mxT tSoww

The range of services provided to assist the customers in purchase or
maintenance of their vehicleis

A)  Customer service B)  Customer support

C)  Customer satisfaction D) Customer communication

Ans: (B) Customer support

117) qotine® AT PFIS .00 WTODIAY
A) 3R By
B) 3o da0h 308
C) Senson BOWT OBINGA T, %({pdé
D) ™0y 3%
WET : (D) oy 3
The disadvantage of an integral frame chassisis
A)  less cost
B) less dead weight of vehicle
C)  stability for fast moving vehicles

D) difficult to repair
Ans: (D) difficult to repair
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118) TST DT LT, WTSRORHLICTTTY

A) =8 10,000 8.c0e.Ry B) @8 20,000 3.c0e.i}

C) =& 50,000 3.c0¢.7% D) @& 5,000 3.c0¢.1%

@30 : (C) BE 50,000 .20¢.78

The air filter of a vehicle should be changed for every

A) 10,000 km B) 20,000 km

C) 50,000 km D) 5,000 km

Ans : (C) 50,000 km

119) RTTTR, JQWN WOHEIWN WETT Sy’
A) ITw I B) deor g
C) Aw g D) o S
T : (C) A &
The light used for parking purpose of a vehicleis
A)  headlight B)  rearlight
C) sidelight D) foglight
Ans : (C) side light

120) =T deedon® ST WH[OOWTTNTLE W3

A) TRAOD @9} B) So®m3T 008

C) ZomIT Ien D) TF S0eonos noeawmded
@30 : (D) T FeOTIT MOraTdL

The factor on which rolling resistance of a vehicle dependsis

A) slope of the road B)  mass of the vehicle

C) speed of the vehicle D) quality of the road surface

Ans: (D) quality of the road surface
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